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Answers Choice

D. None of these

. zero at x

. differentiable at x
. continuous at x

. none of these

oo w>

@

. X<sup>n-1</sup>
1
0
cx
c

2x
x/2
2x<sup>3</sup>
x<sup>3</sup>/2

-2X
. X<sup>-3</sup>
. -2x<sup>3</sup>

OW» COWr DO

8

1/8
13
2/3

X<sup>2</sup>+ 2
3x+2
3x<sup>2</sup>+5
3x<sup>2</sup>+ 2

mx
x/m

mx<sup>m-1</sup>
. Xm<sup>m-1</sup>
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© ;oo

100
-100

-101
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Question Image
Question Image
Question Image
Question Image
Question Image
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Let/ be real valued function continuous in the interval (x,x1)< D/ (the domain off),
thenf(xq) -f (X)/xq-x represents:

if x& Df andf1( exsts, theng is said to be

If y = x"then dy/dx equals:

If f(x) = ¢ then§1(x) equals:

DOwWP> TOWPH UOWPE UOUP

. None of these
. zero at x

. Continuous at x
. None of these

. NX
. X<sup>n-1</sup>

n
1
cx

C

. X2

. Instantaneous rate

. Differential coefficient

if y=x2 then dy/dx equals: . 2x<sup>3</sup>

. X<sup>3</sup>/2

. -2X
< >-3< >
If y = 1/x2 then dy/dx equals: - Xssup>-3</sup

. -2x<sup>3</sup>

. X<Sup>2 </sup>+ 2
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didx(x3 + 2x +3)=

If y=xX"then dy/dx equals:

[Ff(x) = x° + X3 + x the value off1(1) is:

The derivative of 1/xM is:

I7(x) = x 1%0the value off! (1) is:

If c is a constant, then d/dx (c) =

$(x) = ax2-3x-5, and$1 (2) = 9, a is equal to

Ify = (7x + 9)2, then dy/dx equals:

N0 v Ace 07 = A tamn A ] A —

Ow>» UDOwP» OOw

Ow>

om» Dowmp

o0

oow

oo

m> OOw

. 3x+2

. 3x<sup>2 </sup>+5

mx
x'm

0
8
5

. X<sup>m+1</sup>/ m
. m(x)<sup>m-1</sup>
. (m-1) x<sup>-m</sup>

. 100

0
-101

-2

14x
14x +18
14x+81

. <div>-1/2</div>

-4/3

. Xm<sup>m-1</sup>



“40

46

47

48

49

50

51

52

53

54

55

56

57

58

59

60

61

62

nn

NoX*T4y T/ =U, umenauay/uax=

If x2 +y2 = 1, then dy/dx

If x = at? and y = 2at then dy/dx =

If x =1 -t2 and y =3t2 - 213 then dy/dx =

Iff(x) = 253 + 1 thenf1(0) =

The derivative ofVx at x =a is:

If £(x) = x23thenf1(x) at x = 8 equals:

If#(x) = ¢ thenf! (0 equals:

IFf(x) = 1/x-2 thenf1(0) equals:

Differentiation of sin x w.r.t. cot x is:

d/dx [tan2 X]

d/dx (cos x2) =

d/dx(cot x) =

d/dx (cosec x)

d/dx (cos x sin x) =

If y = 3 x + 2cos x, then dy/dx =

Question Image

Question Image

Niuinntinn lnaa~~

C.7/2

A. y/Ix

C. 1/x
D. None of these

B. y/2a
C. -al2y
D. -2y/a

(1)
3(1+t)

oowm»

3/1-t

1
6
None of these

1/2a
2/a
2%

Ow>» DO

1/8

2/3

CX

Dow» DoOwmP

-3/2
=112
.1/5

. -sin<sup>2</sup> x sec x

. -COS<sup>2</sup> x tan x
. -sin<sup>2</sup> x

oOwW> UOW

[oe]

. 2tan x sec x

C. 2 cot xtan x

D. 2sec<sup>2</sup> x
CcoSs<sup>2</sup> x

. -2X COS X

. -2xtan x
. -2X sec<sup>2</sup> x

Sec xtan x

. Sec<sup>2</sup> x
. 1/cot<sup>2</sup> x

gow> O0w>

-sec x tan x
sin X cos x

oow>

. 2sin x cos x

A. cos<sup>2</sup> x -
sin<sup>2</sup> x

C. 2cos<sup>2</sup> x -
sin<sup>2</sup> x
D. 1 - sin<sup>2 </sup>x

B. 3-t sin x
C. 3x<sup>2</sup> - 2sin x
D. 3(1-4 sin x)

D. None of these

A. zero at x
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Question Image

. continuous at x

none of these

Question Image B. x<sup>n-1</sup>
A1

Question Image C. ox
D.c

Question Image E )gf<sup>3</sup>
D. x<sup>3</sup>/2
A. -2x

Question Image B. x<sup>-3</sup>
D. -2x<sup>3</sup>

Question Image
A8

Question Image B.1/8
D. 2/3
A. x<sup>2</sup>+ 2

Question Image g %;((:sﬁp>2< fsup>+5
A. mx

Question Image B.xm
D. xm<sup>m-1</sup>
A0

Question Image (B: ?_)

Question Image

Question Image

Question Image

Question Image

Question Image
A. 100

Question Image C. o
D.-101

Question Image

Question Image

Question Image

Question Image

Question Image

Question Image
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Let/ be real valued function continuous in the interval (x,x4)< D/ (the domain of]), A. Instantaneous rate

thenf(x) -f (x)/x4-x represents: C. Differential coefficient

D. None of these



A. zero at x

92 if x& Df and$1(¥ exsts, theny s said to be C. Continuous at x
D. None of these
A. nx
93 If y = X"then dy/dx equals: B. x<sup>n-1</sup>
D.n
A1
94 If f(x) = ¢ then$1(x) equals: C. cx
D.c
95 if y=x2 then dy/dx equals: 2 )g)%<sup>3</sup>
D. x<sup>3</sup>/2
A. -2x
96 Ify = 152 then dy/dx equals: B. x<sup>-3</sup>
D. -2x<sup>3</sup>
A. x<sup>2 </sup>+ 2
B. 3x+2
97 didx(3 + 2x+3)= C. 3x<sup>2 </sup>+5
A. mx
98 If y=x"Mthen dy/dx equals: B.x/m
D. xm<sup>m-1</sup>
A0
B.8
99 IF§(x) = X3 + 3 + x the value off (1) is: c 5
A. x<sup>m+1</sup>/ m
B. -1</
100 The derivative of 1/x™ is: c ?"n(ﬂ;s)izzr&_;f,usz;
A. 100
101 iF#(x) = x 100the value off1 (1) is: C.0
D. -101
. _ B.c
102 If ¢ is a constant, then d/dx (c) = C ox
D. 1
A 2
103 $(x) = ax%-3x -5, andf1(2) =9, a is equal to C 2
D. 4
104 Ify = (7x + 9)2, then dy/dx equals: g 111);( +18
D. 14x+81
A. <div>-1/2</div>
105 If 3x + 4y +7 = 0 , then dy / dx = i
A. y/x
106 tf 32 +y2 = 1, then dy/dx C 1/x
D. None of these
B. y/2
107 If x = at2 and y = 2at then dy/dx = c )_Ia/gy
D. -2y/a
A (1-)
108 If x =1 -t2 and y =3t2 - 213 then dy/dx = B.3(1+)
D. 3/1-t
1 B.1
109 Iff(x) = 2x3 + 1 thenf1(0) = C 6
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The derivative ofVx at x =a is:

If $(x) = x23thens1(x) at x = 8 equals:

Iff(x) = ¢ thens 1 (0 equals:

IF#(x) = 1/x-2 then$1(0) equals:

Differentiation of sin x w.r.t. cot x is:

d/dx [tan? x]

d/dx (cos x2) =

d/dx(cot x) =

d/dx (cosec x)

d/dx (cos x sin x) =

If y = 3 x + 2cos x, then dy/dx =

C

. None ol umese

. 1/2a
.2/a
.29

Ow>

. 8
. 1/8

2/3
1

CX
Cc

Dor» DoOm»

B.-3/2
C.-1/2
D. 1/5

A. -sin<sup>2</sup> x sec x
C. -cos<sup>2</sup> x tan x

D. -sin<sup>2</sup> x

B. 2tan x sec x

C. 2 cot xtan x

D. 2sec<sup>2</sup> x
cos<sup>2</sup> x

A. -2x cos x

. -2x tan x
. -2X sec<sup>2</sup> x

> OO0

Sec x tan x

. Sec<sup>2</sup> x
. 1/cot<sup>2</sup> x
. -sec xtan x

. Sin X COos X

W OO

D. 2sin x cos x

A. cos<sup>2</sup> x -
sin<sup>2</sup> x

C. 2cos<sup>2</sup> x -
sin<sup>2</sup> x
D. 1 - sin<sup>2 </sup>x

B. 3-t sin x
C. 3x<sup>2</sup> - 2sin x
D. 3(1-4 sin x)



